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| FE#15.2
> f= x—signum(x)

fi=

> a:=n— (%)-(int(f(x)-cos(n-x),

X > signum(x)

x=-Pi..P1))

nx),n=1.m)

”M§

) cos(nx) +b(n)sin(nx))

> s(x, 1)
4 sin(x)
T
_> s(x,5)
4 sin(x) n 4sin(3 x) n 4 sin(5 x)
T R 5w
> 5(x,9)
4 sin(x) n 4 sin(3 x) n 4 sin(5 x) n 4sin(7 x) n 4 sin(9 x)
i T R 5w r or
> s(x, 13)
4 sin(x) I 4 sin(3 x) I 4 sin(5 x) I 4 sin(7 x) I 4 sin(9 x) I 4sin(11 x)
T 3nm 5w Tr om Ilm

n 4sin(13 x)
1371
> plot({f(x),s(x, 1),s(x,5),s(x,9),

s(x,13)}, x=-Pi..P1)
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—fx) —s(x,1) —s(x,5)
— 8(x,9) — s(x,13)




